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Problem Statement:
We have to determine whether a given element x is present in a sorted non-decreasing

array A or not.

If x is present in the array A, binary search will provide us the index of x in the input

array A. On the other hand, if the element is not present in the array A, then the return

result will be −1.

BinarySearch (A, x, p, r)

1 if p == r
2 if x == A[p]
3 return p
4 else
5 return −1

6 else
7 q = ⌊p+r

2
⌋

8 if x ≤ A[q]
9 return BinarySearch (A, x, p, q)
10 else
11 return BinarySearch (A, x, q + 1, r)
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